asym_bcm_an_us Integrated Convergence

x107°

bcm an us

asym
-

|
A

x10°

0

Pattern Number

| |
30 100

bcm an ds
N

-

asym

-

asym_bcm_an_ds Integrated Convergence

x107°

run7357 000 integrated convergence analog bcm.png

Pattern Number

|
100

x10°



—-0.05

run7357 000 integrated convergence

diff_ bpm4aX Integrated Convergence

|
80
Pattern Numb

l 100
(i:;pm4ax_bpm4aY.png

x10°

diff bpm4aY

—-0.05

—-0.1

-0.15

diff_ bpm4aY Integrated Convergence

x10~

| Ix10°

0

|
30

|
100

Pattern Number



diff_bpm4eX Integrated Convergence diff_bpm4eY Integrated Convergence

x107° 510_3
>t:|<.> 0_1__ _________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________ %__) I
=S T
B_I : _%_05 ........................................................................................................................................................................................................................................................................................................
"%)05_ ___________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________ % u

i : . o ®

i I O T A O W T Y ® | | ® oL

| 0_ ® g ® ¢ ® ® o ®

] e — S U N S B ® ® *
| o — ®
- ® ® o ® ©® - | | "
® ® ®

:0 | I e o g g _005_. _________ . ® ol b
—0.05 | ® |l ® ol e e e : :

: 0. 1| ] e

N :

- N T e ll i e A
N (i e ——— -

) o o L L L X103 [ L L o L - X103

0 20 40 60 80 100 0 20 40 60 80 100

Pattern Numb Pattern Number

run7357 000 integrated convergence %pm4eX_bpm4eY.png



asym_sam?2 Integrated Convergence asym_samé6 Integrated Convergence

x10° x10~°
T et
o3 A
= B = ] —
= - =, |
7)) 7)) —
4y — 4y =
e N L ] —
i ) N I A A
0.01—|-|- S 0 A S SN A — L — B ® ° o ¢
u ® o * ¢ B ® o o * 0O !
@ ¢ ® o o @ o ® ®
: s | ® L ® o ° o _5:_ __________ ® . _____________________ P . ________ ® o |l b
) S S Y [ s e & | oLl B
B _10:_ _______________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
_001 __ _____________ e S, _1 5 :_ ...................................................................................................................................................................................................................................................................................................
—0.02 R —_—m—» 20 T
B L | X103 — L | X103
0 80 100 0 80 100

run7357 000 integrated convergence sam2 samé6.png

Pattern Number

Pattern Number



O
W

Asym_sam4
O

N

0.01

—-0.01

-0.0

-0.0

2

3

-
N
-

asym_sam4 Integrated Convergence
x107°

II‘||||‘|I|||||II‘IIII‘IIII‘IIII‘I|
| z ; . z z |

Pattern Number

|
100

x10°

~

asym_sama38
@)

asym_sama8 Integrated Convergence

x107°

E_‘ _________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________

B ®

I R T O " Y R RO A B e

B ® o L ¢ ® . ®

B ® 0 o ®

e e & P

- | L L o L o X103
20 40 60 80 100

Pattern Number

run7357 000 integrated convergence sam4 sama8.pnd



asym_samt
o)

x107°

asym_sam1 Integrated Convergence

|
.l

run7357 000 integ rated_convg?'ugegnNé”enies:am1_sam3.png

x10°

00

asym_sam3
=

-10

asym_sama3 Integrated Convergence

§10£

|
.l

Pattern Number

x10°

00



—h
-

asym_samsd

_5—-

-10

-15

-20

asym_samb Integrated Convergence

x107°

-

run7357 000 integ rated_convg?uﬁgnNggieéams_sam7.png

|
100

x10°

o

asym_sam?
Ol

asym_sam? Integrated Convergence

Pattern Number

|
100

x10°



asym_ys
= o
N Qo

0.01

—-0.01

—-0.02

—-0.03

-0.04

asym_usl Integrated Convergence

|
80
Pattern Number

|
100

x10°

asym,_usr

0.02

0.01

—-0.01

—-0.02

—-0.03

asym_usr Integrated Convergence

3<10_3

-

run7357 000 integrated convergence usl usr.png

| |
80 100
Pattern Number

x10°



asym_dsl Integrated Convergence asym_dsr Integrated Convergence

B x107° 6><1045
= - s B
'c-l B 'UI B
= 8__ _________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________ .
5? B t:?f e
© 6__ ________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________ S -
4__ __________________ - O 2 0
B ®
| ® ® —
2__ _______________________________________________________ ® T o [T B ® o o .
- | | O—1| &1 . ________ o ® | T Y. ® . ________ I ® = e %
e (e e G e e e B
- v AP I e | | L b
_2__ _____________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________ . ____________________________________ _2_
- - @
—4:—. """"""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""" e
_6:_ ____________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________ -
B o —
—8__ .................................................................................................................................................................................................................................................................................................... -
~10 :_ ____________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________ —8 T
_12__| ...... .............................. S ‘ ............... e o ’ .............. R o | .............. R o ‘ ............... e S ‘ ..... X 103 : | I ‘ | | ‘ | | ‘ | | ‘ | | ‘ X103
0 20 40 60 80 100 0 20 40 60 80 100
Pattern Number, Pattern Number

run7357 000 integrated convergence dsl dsr.png



